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QID : 201 - In the following question, select the related word from the given alternatives.

Smash : Badminton::?:?
el ge & fow 1w fashedt 7 & Fefid ereg 1 AT

e dsfeT:i2:?

Options:

1) Board : Chess

q15 : RS

2) Bowled : Cricket

3MT3C FaT : Fohehe

3) Ball : Golf

e : Mew

4) Stick : Polo

e : arell

Correct Answer: Bowled : Cricket
3113¢ T : Tohohe

Candidate Answer: Bowled : Cricket
T3¢ AT : Fohhe

QID : 202 - In the following question, select the related word pair from the given alternatives.
School : Student:: ?:?

PrAfaf@a e & fow 1v fashedt # & Gefiid ereg o 1 gfav|

Options:

1) Hospital : Bed

3T : TeldT

2) Judge : Court

FATITENST : =TT

3) Shop : Selling

geleT © Sl

4) Prison : Convict

el ; 3TORTEY

Correct Answer: Prison : Convict
ST : ARTET

Candidate Answer: Prison : Convict

STl & 3TORTHT

QID : 203 - In the following question, select the related word from the given alternatives.

Temperature : Degree : : Area : ?
PrAfaf@a gea & faw a1v fashedt # & Gefiia arse &1 9T

AT : B e ?
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Options:
1) Watt
afe
2) Hectare
g
3) Kilogram
[CIDIE
4) Ampere
TFRT

Correct Answer: Hectare
FF

Candidate Answer: Hectare
LELny

QID : 204 - In the following question, select the related letter pair from the given alternatives.

LACK : GWXG : : MYST : ?

feFaforie yea o U a1v fashedt # @ Hefera 37aRT & giav)
LACK : GWXG : : MYST : ?

Options:

1) TCPH

2) HUNP

3) TUMC
4) HUMT

Correct Answer: HUNP
Candidate Answer: HUNP

QID : 205 - In the following question, select the related letters from the given alternatives.
PIT:UNY::FAX:?

rfaf@a yea # U arv fashedt & & Hafera 37eRT & gfav)

PIT : UNY:: FAX:?

Options:

1) LGB

2) KEB

3) KFC

4) LAE
Correct Answer: KFC
Candidate Answer: KFC

QID : 206 - In the following question, select the related letters from the given alternatives.
FK:CI::GL:?

Rrafaf@a gea & v a1e fsredi # & Fefia 3Rt a1 gfav

FK:CI::GL:?

Options:

1) AH

2) RV

3) KP

4) D]
Correct Answer: D]
Candidate Answer: D]
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QID : 207 - In the following question, select the related number pair from the given alternatives.

Options:
1)48:96

2)24:50
3)12:50
4)31:63

Correct Answer: 48 : 96
Candidate Answer: 48 : 96

QID : 208 - In the following question, select the related number from the given alternatives.
62:155::74:7?
TPrATAfae eat 3 few 1w fashout 7 & Feferd Fear 1 v

62:155::74:?
Options:

1) 185

2) 165

3) 170

4) 190
Correct Answer: 185
Candidate Answer: 185

QID : 209 - In the following question, select the related number from the given alternatives.
41:5::23:?
rATAf gea # fow 1w fasheut 7 & Feferd dEar 1 giav|

41:5::23:?
Options:

1)5

2)3

3)8

4)9
Correct Answer: 5
Candidate Answer: 5

QID : 210 - In the following.question, select the odd word from the given alternatives.

T 92T & 1T 91¢ fashoul & & fawe ereg @1 giav|
Options:

1) Sitar

fAar

2) Violin

arafoe

3) Harmonium

FRAATH

4) Guitar

fer

Correct Answer: Harmonium

Candidate Answer: Violin

arafore
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QID : 211 - In the following question, select the odd word from the given alternatives.

ATl gea & fow 1w fasheut 7 & fawe eree 1 faiw)
Options:

1) Rice

Irdel

2) Wheat

i

3) Maize

HeFRT

4) Potato

3Tel

Correct Answer: Potato
3T

a
Candidate Answer: Rice
BICE)

QID : 212 - In the following question, select the odd word from the given alternatives.

TrATafa ge & fow 1w fasheut 7 & fawe eree; 1 faw|
Options:

1) Cuboid

HelTd

2) Cone

)

3) Triangle

gt

4) Cube

el

Correct Answer: Triangle

ELs)

2
Candidate Answer: Triangle

EELicH

)

QID : 213 - In the following question, select the odd letters from the given alternatives.

rATAf e # fow 1w fashout 7 & fawer 31eRT 1 giav|
Options:

1) NJFB

2) KGCZ

3) BXTP

4) LHDZ

Correct Answer: KGCZ
Candidate Answer: BXTP

QID : 214 - In the following question, select the odd letters from the given alternatives.

fAraAfaf@a gea & few 1w fasredt 74 @ fawer st & 9w
Options:

1) RLFZ

2) KDXR

3) PIDX

4) TNHB

Correct Answer: ' KDXR

Candidate Answer: KDXR

QID : 215 - In the following question, select the odd letters from the given alternatives.

rAfaf@a e & fow 1w fasheut 7 & fawer 31eRT &1 giaw)
Options:

1) XAD

2)IL0

3) TWZ

4) FIM

Correct Answer: FIM

Candidate Answer: FIM
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QID : 216 - In the following question, select the odd number from the given alternatives.

PrAfaf@d e # v 1v fashedt # & fawe dear & giav)
Options:

1)13-5

2)15-7

3)12-6

4)14-6

Correct Answer: 12 -6

Candidate Answer: 12 -6

QID : 217 - In the following question, select the odd number pair from the given alternatives.

ferAfafad e  fow e fashedt 7 & fawe dear g7 &1 v
Options:

1)93-97

2)84-88

3)54-58

4)29-35

Correct Answer: 29 — 35

Candidate Answer: 29 — 35

QID : 218 - In the following question, select the odd number pair from the given alternatives.

Tt 9eaT & fou 910 fashoul & & fawer dear goa &I giav|
Options:

1) 11-13

2)17-19

3)23-31

4)31-37

Correct Answer: 23 - 31

Candidate Answer: 23 - 31

QID : 219 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Reality

2. Receptive
3. Rebound
4, Realism
5. Realize

AT ereel T erseahrer # 3= aTel e & R ford|

1. Reality

2. Receptive
3. Rebound
4, Realism
5. Realize

Options:
1) 45132
2) 41532
3) 41523

4) 45123
Correct Answer: 41532
Candidate Answer: 41532
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QID : 220 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Shapely
2. Shoddy
3. Shelve
4, Short
5. Sharp

AT ersal T ersaahier # e aTel e & TR fordd|

1. Shapely
2. Shoddy
3. Shelve
4. Short
5. Sharp

Options:
1) 15234

2) 51234
3) 15324

4) 51324
Correct Answer: 15324
Candidate Answer: 15324

QID : 221 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Stern
2. Startle
3. Steep
4, Storm
5. Stick

AT ereal T Asaahier # e arel e & TR fordd|
1. Stern

2, Startle

3. Steep

4, Storm
5. Stick

Options:
1) 23451
2) 23154
3) 23145

4) 23415
Correct Answer: 23154
Candidate Answer: 23154

QID : 222 - A series is given with one term.missing. Select the correct alternative from the given ones that will complete the series.
APRQ, ZLQM, YHPI, XDOE, ?

T 31eTha T ara B, T e | Uk ug ofed 81 v arv feedl & & a7 @Y R gfaiw, S sregswa & qu |

APRQ, ZLQM, YHPI, XDOE, ?

Options:

1) VXNZ

2) WX0A

3) VXMB

4) WZNA
Correct Answer: WZNA
Candidate Answer: WZNA

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 6/65



17/02/2018 Staff Selection Commision

QID : 223 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
RIM, UNT, XSA, AXH, ?
T 31efha T ara B, T e & U g oo 81 T arw et 7 & a7 @t e gfAiw, S sregsa @ qu R

RIM, UNT, XSA, AXH, ?

Options:
1) CBM

2) DCO
3) DBN

4) CCO
Correct Answer: DCO
Candidate Answer: DCO

QID : 224 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FC, DA, BY, ZW, ?
Teh 37eTsha 18T a1 , TS e & Ueh Ug oo €1 few 1w faehodl & & a8 @Y fasho A, St 3iefshar &1 921 Y|

FC, DA, BY, ZW, ?
Options:

1) YU

2) XU

3) YWV

4) Xv
Correct Answer: XU
Candidate Answer: XU

QID : 225 - In the following question, select the missing number from the given alternatives.

14, 35, 87.5, ?, 546.875
TrATafad e  fow 71w fasheut 7 & ood 3ieh A1 AT

14, 35, 87.5, ?, 546.875
Options:

1) 218.75

2) 262.5

3) 192.75

4) 178.5

Correct Answer: 218.75
Candidate Answer: [ NOT ANSWERED ]

QID : 226 - In the following question, select the missing number from the given alternatives..
43, 21.5, 21.5, 43, ?, 1376
T 92 & 1T 977 fashodl & & ofcd 31 AT SIS

43, 21.5, 21.5, 43,2, 1376
Options:

1) 172

2) 138

3) 124

4) 194

Correct Answer: 172
Candidate Answer: [ NOT ANSWERED ]

QID : 227 - In the following question, select the missing number from the given alternatives.
81, 23, 104, 127, 231, ?
el gea o fow a1v fasheut 7 & oed 3 3A1d HfoIT|

81, 23,104, 127, 231, ?
http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 7/65
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Options:
1) 392
2) 440
3) 324
4) 358

Correct Answer: 358
Candidate Answer: 358

QID : 228 - E is taller than D, C is taller than E, A is taller than E and B is taller than C. Who is the second shortest?

E,D@FEE, C, EAZEE, A, ETFum ¥ 3R B, C ¥ 51 | GET HH BIT il 87
Options:

1)D

2)E

3)A

4)C
Correct Answer: E
Candidate Answer: E

QID : 229 - D's mother's father is C's father's father-in-law. How are C and D related if D is male and C female?

D &1 &1 & Oar C o e & &Y €1 C 31k D ey ag @eiferay € afe; D oy aar C &6 82

Options:

1) D is C's wife's brother
D, C & esit &7 4715 §

2) Cis sister of D's wife
C, D I gl AT 98T &

3) D is C's brother
D,CHTASE

4) C is mother of D's wife
C, DR I Hrarg

Correct Answer: D is C's brother
D,CHHSE

Candidate Answer: D is C's brother
D,CHASE

QID : 230 - From the given alternative words select the word which cannot be formed using the letters of the given word.

WAVELENGTH

rAfaf@d fasedl & & ag 2ree AT S foU 91T 2reg & 3R T TN hieh AT SeATAT ST Hebell:
WAVELENGTH

Options:

1) wheat

2) valet

3) halve

4) given
Correct Answer: given
Candidate Answer: given

QID : 231 - If MORTALS is coded as LNQSZKR, then how will BIN be coded as?

Ife MORTALS &I &g 3 LNQSZKR for@r Sirar € ar BIN & i3 & Fa forar sireen?

Options:
1) YRM

2) AHM
3) DKP

4) CI0
Correct Answer: AHM
Candidate Answer: AHM
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QID : 232 - In a certain code language, 6532 means 'change the TV channel', 8965 means 'give back the change' and 1246 means 'channel the inner energy'. Find
the code for 'channel'.

oY fATRad @i 81T 7 6532 &1 3127 § 'change the TV channel', 8965 T 31% § 'give back the change' 3R 1246 & 3121 § 'channel the inner energy'| 'channel' & farT
HIS AT A

Options:

1)3

2)5
3)6

4)2
Correct Answer: 2
Candidate Answer: 2

o ot

QID : 233 - In a certain code language, '+' represents -, '-' represents 'X', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.
950x50+8-5+20="7?
R ARTT P I 7 '+, - A eRIT AT g, ', X H ISRId AT g, X, '+' B UGRd wdr § 3 '+, '+' B TeRid Rl §I-Arafaf@d uRa T 3R AT H1?

950x50+8-5+20="?
Options:

1)4

2) 58

3)-32

4)-1

Correct Answer: -1
Candidate Answer: -1

QID:234-If7@3=8,10@ 2 =16 and 70 @ 40 = 60, then find the valueof 7@ 5 = ?

IE7@3=8,10@2=1631R70@40=60,dT7 @ 5 = ? & AH AT H?
Options:

1) 35

2)4

3)2

4) 75

Correct Answer: 4

Candidate Answer: [ NOT ANSWERED ]

QID : 235 - If A * B means A is mother of B, A + B means A is‘sister of B and If A % B means A is daughter of B, then what does G % H * I + J mean?

TRA*BA HIEHA BRI AT, A+BH NI HABH TEAL IR ARTA%BFITEHEA BIGHEA G % H* I + 17 319 82
Options:

1) G is sister of J

G lHfragag

2) G is mother of J

GlHfrarg

3) G is daughter of J

G IR gy

4) G is sister of J's wife

G, ] I Ucell & TgA(T

Correct Answer: G is sister of J
G, ) frSgag

Candidate Answer: G is sister of ]
G, ) fragTe

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 9/65
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QID : 236 -

Select the missing number from the given responses

ferg g et 3 & ow T gy

4 2

Options:
1)3

2)4
3)1

4) -4
Correct Answer: -4
Candidate Answer: -4

QID : 237 - Which of the following terms follows the trend of the given list?

000X00, 0000XO, 00000X, XO0000, OXO000,
TrATAf & & ier @1 ug &1 972 G & A & AR §?

0O00X00, O000X0, OOO00X, XOOO0O, OXO00O,
Options:

1) OOX000

2) OXO000

3) O00X00

4) O000X0

Correct Answer: 00XO00
Candidate Answer: O0OX0O00

QID : 238 - A women leaves her hut and walks 2 km West, then she turns North and walks 7 km, then she turns East and walks 1 km, then she turns South and
walks 3 km, then she turns to her left and walks 1 km towreach the well. Where is this well with respect to her hut?

T AfgET 3T Shst & 2 fRheeex uf¥es $ir 3 Tecd &1 R a5 3car 1 3R 7 & 3R 7 Rreleliex ol &1 38 a1e a8 a0 1 3R F59 1 fhaiefed Torc 1
e ag afdror &1 3R Aseh & AR 3 freNalieT Terch §1 7R ag 3rael a8 3T a7scl 3R 1 Reellafiex Tereht $U deh Tgaiely &1 SHHY SISt & Hasf I F317 el e 87
Options:

1) 4 km South

4 frelieieT gfaror

2) 10 km North

10 farelteiex 3eat

3) 10 km South

10 FprateTex afgroT

4) 4 km North

4 fFaAe Feal

Correct Answer: 4 km North

4 fFaIAICT 3cat

Candidate Answer: 4 km North

4 frell#IeT Iear

QID : 239 - Two siblings start from home to go to their respective schools. The brother goes 6 km West, then turns right and goes 3 km and reaches his school.
The sister goes 2 km South, then 4 km East, then turns left and goes 5 km and reaches her school. Where is the sister's school with respect to the brother's school?

&Y 5T gt TR W 3 THA AT TAAT SIS et €1 378 6 Rciiafie afRerst 1 3R orelr & O a1 3T 3 3 Rrelafie ot 1ot Toef wgarel &1 et 2
Wmﬁmma,m4mm@ﬁmmammm§mgm5ﬁa—mﬂwqu@mm TS & ol & AT 3 ageT o1 Tho!
el 67
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Options:

1) 10 km West

10 fhreli#TeR 9iegs

2) 10 km East

10 fraietex @@

3) 2 km East

2 fralteie g

4) 2 km West

2 fpeeY afRas

Correct Answer: 10 km East

10 fraiefe @@

Candidate Answer: 10 km East

10 fopelteliey &

QID : 240 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it'seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No soldiers are french
Statement II: All europeans are french

Conclusion I: Some french are europeans
Conclusion II: Some soldiers are europeans

9T & &l T &Y a3 & fomeh 3maY &) fasehy [ 317 11 fAerrer a3 & 319en! ATl § T alelt el Tcd § I8 98 ATHId: Ald 923t ¥ ffee gad gl 8¥| 3t ot
FIAT § HT T a0 foreansf 37 & wla-an/Hia-3 RIS FT F FUT GaRT e AR ST Hehell &/9Fd &, TG g 81

FY I: FIs {UEY tha 7181 &
FYT I1: ol R e §

forad I: o Sher ST &

o II: Fo R Riftew §

Options:

1) Only conclusion I follows

hael Toshy I g

2) Only conclusion II follows

Faol oy 11 T &

3) Both conclusions I and II follow

gt forseRy I 3 11 |er &

4) Neither conclusion I nor conclusion II follows
T A forseny [ |2 & =7 &Y forseny 11

Correct Answer: Only conclusion I follows

Fad forshy 1 TET &

Candidate Answer: Only conclusion I follows

ad ey I 78T §

QID : 241 - In the question three statements are given, followed by three conclusions, I, II and III. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All passes are valleys
Statement II: Some passes are'mountains
Statement III: Some hills are mountains as well as valleys

Conclusion I: Somehills are passes
Conclusion II: Some mountains are valleys
Conclusion III: All valleys are hills

o & I e e T § forgss 3 i sy 1, 11 317 111 fAehrel 13 & 3m9ept A1 & 76 Al Fue acg & 9 98 Irdead: Ad azdl & f@ie gdia 81 &l
IMIeRT AT 3T & T T 1T et F & Fia-a/ala-a RAiRad 9 @ w2 garT @ e S Tohdr §/dsd 8, I FS el

FyaT I: Fofr ¥ enfear &
FYa IL: F &l 94d §
FUT I11: $© Ge13T7 9dd ¢ e arer ofr §

ﬁrwﬂ:@qm%zﬁa'f%

s II: o uda arfedr §
oSy III: gaft enfer ygifsan &

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 11/65
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Options:

1) Only conclusion I follows

Fad forsey 1 T8 §

2) Only conclusion II follows

o fshy 11 a8 &

3) Only conclusions I and II follow
o fswy 1 3R 11 T &

4) All conclusions I, II and III follow

et sny 1, I 3R I adr g

Correct Answer: Only conclusion II follows

Fao vy 1 g g

Candidate Answer: Only conclusions I and II follow

Fael sy I 3R I TEr &

QID: 242 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

=Tt SR 1repfer & & eI AT O Q1Y o
3TTPFT = et T A FT A& AT ADT?

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 12/65
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Options:
1)

Re

N

&

W

H

& &

Correct Answer:

By

Candidate Answer:

By

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 13/65



17/02/2018 Staff Selection Commision
QID: 243 -

Which of the following answer figure patterns
can be combined to make the question figure?
frrferiad S sl 5 & B & Hfered! &7
FASHR AT T 7 APt bl ST ST FebeT 87

Options:
1)

2)
3)

4)
Correct Answer:

Candidate Answer:

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 14/65
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QID: 244 -

In the following figure, square represents Dentists,
triangle represents Collectors, circle represents Indians
and rectangle represents Women. Which set of letters
represents Indians who are either collectors or women?

frferiRaa fom 4 off, Sfevew @ wefifa awar &, frge
e 1 HEfTeT PR &, I AR Bl a2 A
AfRealt Y nefdia sar &1 s o1 P a1 TE T
iAo TR e & ST A7 &Y derered & A7 Afeen 87

G
/f—\
E/
B| |D H
F
A C

\!\\_.)
Options:
1) DEF
2) GFH
3) IEF
4) CDE

Correct Answer: DEF
Candidate Answer: DEF

QID: 245 -
Which of the following Venn diagrams represents the
relationship between Gold, Silver and Gold coins ?

fer=feiRae & O @ a1 39RE 9=, gel i E &
frarept & Tger gorfar 872

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 15/65
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Options:

©

2)

©0O

4)

Correct Answer:

©0O

Candidate Answer:

©0O

QID : 246 -

Which answer figure will complete the pattern in the

question figure?

Staff Selection Commision

frferRa 3 ea-dt S arefar uy snafer & uftrey

P ORI BL?

[/

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c#
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Options:

(/
g Lo

5
bk,

2)

3)

4)

Correct Answer:

~
X,

Candidate Answer:

=
Pk,
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QID : 247 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

= T STR T F | 9 sy @Y g R my
agfer fAfee 21

Options:

2

2)

3)

4)

Correct Answer:

Candidate Answer:

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 18/65
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QID: 248 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

% 3ol H ORI SR BRIt Pl HIedhy I
B R T T & I18 I8 5 SR STepfer S
ferarg <r?

P o

Options:
1)

2)

3)

4)

Correct Answer:
oY O
D q
5 = 0

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 19/65
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Candidate Answer:
O~ O
D q
0 = O

QID : 249 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

i T SUUT T MN RET IR ¥GT 11T & & it IR
IRl 3 & PI- STHIT T8 it BT Hel
yferfees grfr?

Options:
1)

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 20/65
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Correct Answer:

Candidate Answer:

QID : 250 -

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices. The
columns and rows of Matrix-l are numbered from 0 to 4 and that of Matrix-||
are numbered from 5 to 9. A letter from these matrices can be represented
first by its row and next by its column, for example 'E' can be represented by
41, 32 etc and 'U’ can be represented by 85, 87 etc. Similarly, vou have to
identify the set for the word "MAXI"..

TP 975 et O ST @I SHar T &, G o et 5 ¥ it e
foram &1 et & forg o e aneR) & ar a GRT GHTT O E, S s
e T 2 aeE ¥ 81 STegE-1 & T iR ufeh 61 T 0 4 3R -l F1 5
¥ 9 &1 S SATE! ¥ U B BT TEeT THPY Uf Aff Ave A e S g S
T e &1 FeErer & f B @ 41, 32 anfd g gerfar o s & aer U’ @y
95, 87 aIf; GT AT ST T 81 T 6 W AT WA A AT 9158 ‘MAXI' &

foTe T i vEAEAT 2

Mairix | HTEIE- Matrli il *FEa |
] 1 2 3 4 | 5 | 6 7 B Rl

1] G M M K L | 5 u o U ¥ Y

1 K A 1 | [ & R_I P *] 4 1]

& Ll | F B H | 7 X | 2z N a 5

- ; L L E H ] 8 X W u N W

| a K E M [ G 9 u % N v z

Options:

1) 02,34,67,89
2) 01,56,32,98
3) 30,11,96,13

4) 34,76,43,01
Correct Answer: 30,11,96,13
Candidate Answer: 30,11,96,13

QID : 251 - Which of the following is called a 'banker's cheque'?

5T & A SR R gl STTelT &2
Options:

1) IPO

3T

2) DD

EE]]

3) FD

THar

4) RD

ki)

Correct Answer: DD

EED

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 21/65
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Candidate Answer: DD

EE]

QID : 252 - The place where bankers meet and settle their mutual claims and accounts is known as

I T 18T dhd Ao § 3R 3o1eh IRTIR grat 3R @rat &t caafeyd wd €, S S §:
Options:

1) Clearing House

FerAReT §39

2) Treasury

FINT

3) Cheque Scanning

UAeh Thfeil

4) No option is correct.

1S fashoT e 81 8.

Correct Answer: Clearing House
For AT g3 |

Candidate Answer: Clearing House

FerAReT §39
QID : 253 - Which among the following formulates fiscal policy?

rafaf@a & ¥ Fia Teeny Hfg IR F=ar &2
Options:

1) RBI

RS

2) SEBI

a«r

3) IRDA

EIRET

4) Finance Ministry

IEGREICD

Correct Answer: Finance Ministry
IEGREICE]

Candidate Answer: Finance Ministry
[ESEEICE]

QID : 254 - The Zero Base Budgeting in India was first experimented.from which year?

R 7 e TR dotc e a¥ ¥ Tgell IR Y197 fRam aram ar?
Options:

1) 1984

2) 1985

3) 1987

4) 1989
Correct Answer: 1987
Candidate Answer: [ NOT'ANSWERED ]

QID : 255 - In economic terms, which of the following factors determine the 'Individual's demand' of a product/commodity?

T ereerael &, e & & sl a1 HRF Scure/awq B ‘safederd AT &1 fuior #ar 2
Options:

1) Price.of a:commodity

€ T HrAT

2) Income of the consumer

STHIFT S 3T

3) Taste and Preference of consumer

SUHIFT AT 3 3R T

4) All options are correct.

B E MG S N

Correct Answer: All options are correct.

Toft e T §.
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Candidate Answer: Taste and Preference of consumer

3T Fr 3R 3R T

QID : 256 - Who among the following was never the Lok Sabha Speaker?

fFaAfaf@d 7 I Fia Fal Aerae et 787 W12
Options:

1) Meira Kumar

R FAR

2) Balram Jakhar

ESRERCIECES

3) Chandrashekhar

TEAE

4) GMC Balyogi

ShUAHT arerrel

Correct Answer: Chandrashekhar
TEAT

Candidate Answer: GMC Balyogi
ST areraeft

QID : 257 - On whose advice does the President of India appoint a state governor?

AR & Tegufd fherehT Fellg W fohdl T3 o Tgurel I g it 87
Options:

1) Chief Justice of India

R & H&T AT

2) Chief Minister of the State

T & fqEgaEN

3) Prime Minister of India

AR o AT

4) Vice President of India

AR & IWISgUfa

Correct Answer: Prime Minister of India
AR & TTASAAT

Candidate Answer: Prime Minister of India
HRA & TEITAAAT

QID : 258 - The concept of Public Interest Litigation originated in\which of the following countries?

ﬁmﬁ@aﬁﬁﬁm?&rﬁaﬂﬁamﬁwﬁmmﬁ?
Options:

1) England

garols

2) USA

3T

3) Russia

g

4) China

AT

Correct Answer: USA
3AHT

Candidate Answer: USA
kienical

QID : 259- Who among the following decides whether a particular bill is a Money Bill or not?

rAfaf@d 7 ¥ Fia FuiRa w=ar ¢ & 5 Fogs g7 g § a8
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Options:

1) Finance Minister

EGKGEL

2) President of India

AR & Isgufa

3) Loksabha Speaker

FAIRTHT TETET

4) Vice President of India

R & IS

Correct Answer: Loksabha Speaker

TR ITETET

Candidate Answer: President of India

AR & gt

QID : 260 - Which of the following States sends the maximum number of members to the Rajya Sabha?

o 7 O Pl TOT ToT ToTqeT # et 1 3fwds Twar Ssiar 82
Options:

1) Uttar Pradesh

3T yoRT

2) Rajasthan

ST EAT

3) Maharashtra

HERTSE

4) Madhya Pradesh

AL ST

Correct Answer: Uttar Pradesh
3cdl geer

Candidate Answer: Uttar Pradesh
3k eer

QID : 261 - Chandella Kings are related to which of the following temples?

rAfaf@a Al 7 & 9o ver frad Fefera 82
Options:

1) Khajuraho

e )

2) Tirupati

faeafa

3) Rameshwaram

TAIRA

4) Badrinath

T

Correct Answer: Khajuraho

TSRTEY

)

Candidate Answer: Khajuraho

TGoRTEr

)

QID : 262 - In which language did most Buddhist texts were written?

g ey & 3rfrenrer e fnm e & oY aTw 2
Options:

1) Sanskrit

e

2) Magadhi

AT

3) Prakrit

e

4) Pali

arfer

Correct Answer: Pali

arfer

Candidate Answer: Pali

arfer
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QID : 263 - Who established the “Atmiya Sabha” a precursor organization in the socio-religious reforms in Bengal?

SIS F FIATITR-EToeh GURT & 30T TEAT "ATcHT FoIr" By T fohiar b7 A2
Options:

1) Tulsidas

Jerdierd

2) Malik Muhammad Jayasi

afels HeFHe S

3) Surdas

L

4) Kabirdas

FHIRErE

Correct Answer: Malik Muhammad Jayasi
afels HgFHe S

Candidate Answer: Malik Muhammad Jayasi

Al FAEFAG STa

QID : 264 - Who was the first Indian to get selected in ICS?

IS F AT g aTer Igel FRATT BT A?
Options:

1) Dadabhai Naorojee

ZTETeATS RIS

2) Subhash Chand Bose

gAY e A

3) Ravindra Nath Tagore

TdigaTer SR

4) Satyendra Nath Tagore

HAgaTy AT

Correct Answer: Satyendra Nath Tagore
HAGATT &R

Candidate Answer: Dadabhai Naorojee

ETETeTS ARYS

QID : 265 - Who established the “Atmiya Sabha” a precursor in the socio-religious reforms in Bengal?

SaTTel & FHATTIn-e1 e GURT 7 3ar0f "3cr qanr” v Qeand fhae S
Options:

1) Vivekanand

ECCoCy

2) Dayanand Saraswati

ETee TLE

3) Raja Ram Mohan Roy

ST A Algel [T

4) Arbindo

Jrefear

Correct Answer: Raja Ram Mohan.Roy
ST TH Algl T

Candidate Answer: Dayanand Saraswati

&G FLETT
QID : 266 - In which State is the Guru Shikhar Peak located?

% RIER =1 o s #F e 82
Options:

1) Tamil Nadu

dffereg

2) Rajsthan

RE e

3) Himachal Pradesh
GICERER

4) Andhra Pradesh

3TE gger

Correct Answer: Rajsthan
RE e

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c#
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Candidate Answer: Himachal Pradesh

IGIECR A

QID : 267 - Through which of the following countries does the Tropic of Capricorn pass?

fPrafaf@a # @ forg Ser @ g #aT 1@ TR §?
Options:

1) Australia

siteeforar

2) Brazil

STSirel

3) Chile

el

4) All options are correct.

| [AheT TET 8.

Correct Answer: All options are correct.

Toft e T §.

Candidate Answer: All options are correct.

a3 Rereq T &

QID : 268 - Which among the following countries has the world’s largest reserves of Uranium?

faf@d 7 & fra & & ara e F1 T9vT T g 987 3K §?
Options:

1) Russia

4

2) Kazakhstan

FHofTehEcIleT

3) Australia

iteeform

4) Jordan

CICC)

Correct Answer: Australia
iteeform

Candidate Answer: Russia
&

QID : 269 - What is the new name of Jog or Gerosoppa waterfall?

9T AT IRHTCHT STl TOTT ST AT AT FAT &7
Options:

1) Mahatma Gandhi Waterfall

HETCHAT T STel JaTT

2) Jawaharlal Nehru Waterfall

STATE TS g Tt

3) Sardar Patel Waterfall

TWER geol el JuTed

4) Rajiv Gandhi Waterfall

Trefig airelY Ster AT

Correct Answer: Mahatma Gandhi Waterfall
HETCHT el ST yaTet

Candidate Answer: Sardar Patel Waterfall
TGN qeel el J9Td,

QID : 270- Which one of the following states receives the highest rainfall during winter months?

T 7 O Fa U 7 9iéal & 7 7 ao 31 av gl 82

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c#
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Options:

1) Mizoram

HIRA

2) Uttarakhand

EIGRCES

3) Tamil Nadu

RIGECIE

4) Bihar

R

Correct Answer: Tamil Nadu

RIGEOIE

9
Candidate Answer: Tamil Nadu

BIGEGIC

QID : 271 - Which state passed a bill awarding death penalty to those found guilty of raping minors in December, 2017?

e T3 A RE, 2017 #H AT & WY Tellceh & ISy 91T 97¢ it 7 HoJes oot 1 fadgen arid fHam?
Options:

1) Punjab

Croic)

2) Madhya Pradesh

HqET TS

3) Haryana

g

4) Uttar Pradesh

Bl

Correct Answer: Madhya Pradesh
HqET TS

Candidate Answer: Uttar Pradesh
3k yeer

QID : 272 - Union Government has framed a scheme for setting up how many special-courts to fast track criminal cases against tainted MP and MLA leaders?

Fg THR o gl Tiger 3R et & Fears 3R At & i & Aues & o fhder Ay sererdl 6 AT H DT 918 82
Options:

1) 10

2)11

3)12

4) 13

Correct Answer: 12

Candidate Answer: 11

QID : 273 - India’s Manushi Chhillar won the coveted Miss World 2017 crown. Where was held it?

AR T AT BeeR o Tfaifed e aes 2017 &1 f&de Siar| 7 Fel mifad fam amr ar?
Options:

1) China

Gicl

2) France

W

3) India

AR

4) Canada

hellST

Correct Answer: China
AT

Candidate Answer: China
Gics

QID : 274 - Which of the following countries hosted a world chess tournament for the first time in year 2017?

a¥ 2017 # feafof@d 7 & frg g o Tgel IR fava Aqais goie &1 Aot e
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Options:
1) Norway
A
2) Armenia
Jretfear
3) Azerbaijan
SRS
4) Saudi Arabia
HFE IR
Correct Answer: Saudi Arabia

GECURIEC
Candidate Answer: Saudi Arabia

L ETARIRE ]

QID : 275 - India won the first-ever South Asian Regional Badminton Team Championship. India defeated which of the following team?

R« Igel SR &fgor vfrans ey ssfiea & AfPa=fg Sidh| ora & o= & & fFg && & e
Options:

1) Pakistan

qrfeREds

2) Bhutan

e

3) Nepal

arel

4) Bangladesh

CIEC G

Correct Answer: Nepal

AqTeT

Candidate Answer: Bangladesh

ClEiral)
QID : 276 - “Non-Stop India” is written by

Options:

1) Sudha Murthy
o

2) Dalai Lama
TS ATAT

3) Mark Tully
AT Toll

4) Chetan Bhagat
AT HIT

Correct Answer: Mark Tully

A Toll

Candidate Answer: Dalai Lama

TS ATAT

QID : 277 - Which musical artist won the Indira Gandhi Award for National Integration in October 2017?

e FINTPR o TR 2017 F ST T TSET Tehell ERR ST 82
Options:

1) T. M. Krishna

&1, A, Feum

2) M. S:-Subbulakshmi

TH. T, gl AT

3) A. R. Rahman

T. 3. JGATT

4) All options are correct.

3t fasre T@er £

Correct Answer: T. M. Krishna
&1, A, Feom

Candidate Answer: M. S. Subbulakshmi
TH. TF. ool H
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QID : 278 - ‘Festival of India” was organized in which country from 31 August to 9 September 2017?

"HRA T cAigR’ o o1 # 31 31916 & 9 RdeeR 2017 a& 3mafard fmam s ar?
Options:

1) Italy

3ol

2) London

e

3) Brazil

Elcic

4) New York

CUUIED

N
Correct Answer: Brazil

EIEic)

Candidate Answer: Brazil

CICIC

QID : 279 - Which of the following agreement has been signed between India and Israel in July 2017?

SIS 2017 #, AT # & R 7T SoRIgd & 7Y 6y Fosiid oW gedeR e v §2
Options:

1) Agreement for transfer of sentenced person

AT FIT g SATod o FATATAROT & forw Fasiiar

2) MoU on cooperation in organ transplantation

3IT-FeARIIOT 7 TN F AT FHSAAT AT

3) Agreement on technology in civil aviation

PR AT 7 e & fow aasitar

4) MoU on state water utility reform in India

AR & STel ST GUR & foIw Fersiian e

Correct Answer: MoU on state water utility reform in India
AR # STel ST GUR & fIT FASAT 2AT9=T

Candidate Answer: MoU on state water utility reform in India

R # STel ST GUR & foIT FHSAT 2191

QID : 280 - Which of the following operation was launched by Indian governmentto help Rohingya refugees in Bangladesh?

HRT TR @RI aivanger 7 Vfgaar eronfdt & ggrrdr & foe Feifaf@a 7 & i a1 sitavers geman srr ar?
Options:

1) Manavta

HTAdAT

2) Insaniyat

sarfaad

3) Mother

HSX

4) Pahel

q@ﬂ'

Correct Answer: Insaniyat
sarfaad

Candidate Answer: Pahel
qg_vr

QID : 281 - Servers are’computers that provide resources which are connected to a

TR F FFLR & S FATT STeTe8 I § h T3 B &
Options:

1) client

FelgT

2) network

Aeas

3) supercomputer

T FFFT

4) mainframe

ATthaT

Correct Answer: network

Scaw
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Candidate Answer: network

Aeah

QID : 282 - Which of the following is a binary number?

efaf@a & o i O v Tl T §?

Options:
1) 100101

2) 2341
3) 101C11

4) 5F6034
Correct Answer: 100101
Candidate Answer: 100101

QID : 283 - Which alloy is made of essentially copper and tin?

et @ FAAUTg HEad: SR T et & F=7eh 22
Options:

1) Brass

drder

2) Bronze

T

3) Solder

desX

4) Ranga

3T

Correct Answer: Bronze
FHEr

Candidate Answer: Brass

draer

QID : 284 - Incomplete combustion of a fuel gives poisonous gas.

ST & 3707 gt & [EREI R CCi

Options:

1) carbon dioxide
FIoT STSITFASS
2) isocynate

HEEITAT

3) Carbon monoxide

HTeIT AAHTFAES

4) nitrogen

AT

Correct Answer: Carbon monoxide
HTeleT AAHTFAES

Candidate Answer: Carbon monoxide

FIeeT A3

QID : 285 - What is value of pH of a neutral solution?

TR 3erieT [aegeT $1 dIve AT 47 g 87

Options:
1)7.0

2)6.5
3)7.5

4) 6.0
Correct Answer: 7.0
Candidate Answer: 7.0
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QID : 286 - Which base is generally found in soaps?

AT G 3 FieT 6 G IIAT ST 2

Options:
1) Calcium hydroxide

Ffcaaa grzgigarss
2) Ammonium hydroxide
AT gregeaEs
3) Sodium hydroxide

AIfsTA grsgieass

4) Magnesium hydroxide

AR gregirass

Correct Answer: Sodium hydroxide
AifsaA grsgiFass

Candidate Answer: Ammonium hydroxide

IANATA grEFass

QID : 287 - Which type of image is always formed by a convex mirror?

1. Real
II. Virtual
III. Enlarged

TS 3ol SUUT Ted fhd YR FT Yfafass Salrar 82

1. arEafas
11, 3memer
I1I. faafRa

Options:

1) Only I

Fad I

2) Only II

Fger 11

3) Only I and III
haer I 9T 111

4) Only II and III
haer IT qr 111
Correct Answer: Only II
Fae 11

Candidate Answer: Only II
ol 11

QID : 288 - There is a circular coil having n turns. The'field produced is how many times larger than produced by a coil of single turn?

n U ATell IS FUSEN A 3cteet GaenTd & Tehol B GART ScToel Yahia 817 T Jefell H forciar =17 ghelr 87
Options:

1)n

2) n?

3)n/2

4) n2/2

Correct Answer:.n

Candidate Answer: n?

QID : 289 - Which of the following is NOT an example of a biomass energy source?

AT F @ Fi A1 STHR (SRAT) Fell T HT 3cTe0T 78 &7
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Options:
1) Wood
CEX)
2) Gobar gas
MR AT
3) Atomic energy
ATTRRT FoiT
4) Coal
FIT

Correct Answer: Atomic energy

ATTRRT Folt

Candidate Answer: Atomic energy

ATRFT Fol

QID : 290 - Density of water when it freezes.

TS ST STH AT § df SHHT "efed I
Options:

1) decreases

gearg

2) increases

EETIN

3) remain constant

AT EAT &
4) No option is correct.

F1$ fashed TET 16T B

Correct Answer: decreases
gear

Candidate Answer: increases
EETIN

QID : 291 - Which human organ gets majorly affected due to Vitamin D deficiency?

et 2t Y Y & HROT FEA: Bl T AT 9T FefA grerr 82
Options:

1) Eyes

.

2) Skin

=T

3) Hair

ER)

4) Bone

833"

Correct Answer: Bone
833!

Candidate Answer: Bone

GEEl
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QID: 292-
Match the structures given in column (A) with the
functions given in column (B).

Column - A Column -B
|. Stomata 1. Absorption of water
Il.  Xylem 2. Transpiration
lll. Root hairs 3. Transport of food
IV. Phloem 4. Transport of water
5. Synthesis of

carbohydrates

TEH (F) # & 7 T & T9H (@) #7 I
T UhAT ¥ fHrema Hifem

WA -F W -
I 1. ST &1 aRIEoT
I. STSaH 2. TSI
. o= T&H 3. Hio @ uftagea
V. v 4. o & UREEd
5. BEEEse Bl &Y
Options:

1) I-1, II-2, I1I-3, IV-4
2) -2, II-4, 11I-1, IV-3
3) I-1, II-2, I1I-4, IV-3

4) I-1, 1I-3, I1I-2, IV-4
Correct Answer: 1-2, 11-4, III-1, IV-3
Candidate Answer: [ NOT ANSWERED ]

QID : 293 - What is called the process of fusion of the male and the female gametes?

R AT HST JTHE o JIAA I Fshd FAT Hgollell 52
Options:

1) Fertilisation

T

2) Pollination

EREIL)

3) Reproduction

Slefel

4) Seed formation

et A HToT

Correct Answer: Fertilisation

IGAEC)

Candidate Answer: Reproduction
STeleT

QID : 294 - Which of the following is in monera group?

frAfaf@a # & Hia A Tg 7 3 §?
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Options:
1) Mushrooms
HARH
2) Yeast
Aree
3) Bacteria
Sraroy
4) Moss
Faeh (Hid)
Correct Answer: Bacteria

Sfraroy

9
Candidate Answer: Mushrooms
HARH

QID : 295 - Eyes must be removed within hours after the death for eye donation.

Fg & TN AT & foIw a7l &l g¢ F iR A1t T TR T
Options:

1)6

2)8

3) 12

4) 24
Correct Answer: 6
Candidate Answer: 24

QID : 296 - Which of the following is/are agent(s) of infection?

frAfaf@d & § i a1/ Tohaor F1/F FR &/8?
Options:

1) Physical contact

RS T

2) Vectors

RECICY

3) Water

ofel

4) All options are correct.

ol fasheT wer §1

Correct Answer: All options are correct.

a3 RereT TdY &

Candidate Answer: Physical contact

IR Fah

QID : 297 - Which of the following is NOTa.forest product?

faf@a & ¥ Fi9 a1 a7 3cure Aghe?
Options:

1) Gum

e

2) Plywood

erSgs

3) Sealing wax

Hrer X arell o

4) Kerosene

TR FT ol

Correct Answer: Kerosene
GG

Candidate Answer: Kerosene

A Fr AT

QID : 298 - According to World Wide Fund, which of the following river of India is one of the ten most endangered rivers in the world?

qc8 a188 B3 % ITAN, HRA HI et W A gforar Y gq Jeasa Al # F van §?
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Options:
1) River Jamuna
ST Y
2) River Ganges
A AET
3) River Brahamputra
SEAYA FAEr
4) River Godavari
TeTer STEr
Correct Answer: River Ganges
I FET
Candidate Answer: River Godavari

T Ay

QID : 299 - Montreal Protocol is related to which of the following?

Alfecae dieiie efaiad 7 8 fFad dafa g2

Options:

1) E-waste

ST

2) Ozone layer

3Tl IR

3) Water pollution

STl ST

4) No option is correct.

F1$ fashed TET €T B

Correct Answer: Ozone layer
3Tl IR

Candidate Answer: Ozone layer
FHSeT A

QID : 300 - Mission of Ramsar Convention is to conserve

AT FEHTA FT 3227 T TIETOT §|
Options:

1) wetland

I

2) rivers

afear

3) oceans

F

4) deserts

ST

Correct Answer: wetland

Kt e

Candidate Answer: wetland

TR

~

QID : 301 - Which of the following materials has a large number of free electrons in it?

PrAfaf@a gerat #& fow & 921 dear # o selacld 91T o1 82
Options:

1) Insulators

iw_tﬂ?ﬁﬁ

2) Semiconductors

JNATTR

3) Conductors

gdrelsh

4) Resistors

EIGRIEED

Correct Answer: Conductors
gdTelh

-]
Candidate Answer: Conductors
ECIGED

<)
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QID : 302 - Ampere is the S.I unit of

TRR__ HAI T EHE
Options:

1) Charge

3maer

2) Voltage

drecst

3) Resistance

gfaRier

4) Current

faege am

Correct Answer: Current
faege arr

Candidate Answer: Current

Tege ary

QID : 303 - Which one of the following material has lowest resistivity?

AT & & Pl T gerd I gfoRIgFar I FH giar 8?7
Options:

1) Conductors

W

2) Insulators

hdTelch

)

3) Semiconductors

JrefaTers

4) Resistors

gfeRITs

Correct Answer: Conductors
gt

Candidate Answer: Conductors
dTelsh

<)

QID : 304 - What will be the value of current (in A) through a resistor of 40.0hms 'when the potential difference between two ends of the resistor is 20 V?

Teh 40 3NH & FfeRTE 3 TSGR T Aol (WU &) FT G ST FTORIEH o alell R1 o ey [asareax 20 V §?

Options:

1)2

2)0.5

3)4

4)0.2

Correct Answer: 0.5

Candidate Answer: 0.5

QID : 305 -
Determine the capacitance (in E) of a parallel plate

capacitor placed in air if the‘area of the parallel plate
capacitor is 2 m and the distance between the plates

i50.02m.

Gl 3 AT Ve FAIAT Toie T HTemfr (@35 #)
FRART B I TN e GuiE s aamer 2m?
R TR RIgd 0.02m Bl
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17/02/2018 Staff Selection Commision
Options:
1)
7.56 107"

2)
9.65x107"

3)
8.85x107"

4)
6.65x107"°

Correct Answer:

8.85x107"°
Candidate Answer: [ NOT ANSWERED ]

QID : 306 - What will be the value of current (in A) through a resistor, when the power dissipated through the resistor is 40 W and the potential difference between
the ends of the resistor is 100 V?

I Tk TTeRTE 40 aTe A T @oa e § 3R 38 gfadies & ar fRT & & o7 fasraray 100 dtee § aF faegd O 1 AT (R #) 741 glem?

Options:

1) 0.4

2)4

3) 40

4) 0.04

Correct Answer: 0.4

Candidate Answer: 0.4

QID : 307 - What will be the length (in m) of a 10 Ohm wire, when the resistivity of the wire is 0.1 Ohms-m and the diameter of the wire is 0.5 m?

TS 10 311 aTel IR & erears (A &) a7 geft, St ar r gfaRiersar 0.1 3e-a. 31k =ar|.0.5 7. 82
Options:
1) 18.65
2) 19.62
3) 16.68

4) 14.25
Correct Answer: 19.62
Candidate Answer: 19.62

QID : 308 - Two wires of the same cross sectional area have equal length. The resistance of first wire is three times the resistance of the other. What will be the
resistivity (in Ohms-m) of the wire that has low value of-resistance, if the resistivity of the other wire is 3 Ohms-m?

Teh HHTA AT &T7thel el &1 ART Y TaTE Ueh FATA & | Tgel AR T G g@¥ IR & e 1 &1 o FToRrer arel aR 1 gfaiershar (3hH-#ex &) a1 gl 3R
G AR &1 gfaRreresar 3 AT §?

Options:

1)2

2)3

3)0.1

4)1

Correct Answer: 1

Candidate Answer:.0.1

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 37165
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QID: 309 -
Determine the total resistance of the circuit given below.

A few arw oy &1 Fer gk feiia &3

Buld A
B0
et

40'W, 40 V
20W, 40V

A J

W,
w,

Buld B

Options:
1) 24.12

2)23.36
3) 26.66

4) 28.86
Correct Answer: 26.66
Candidate Answer: 26.66

QID: 310 -

What will be the value of current 1° (in A) for the given circuit diagram?

i 3T # fACTeIRT I T (T ) #1301 Blem?

/
WA W\
200 0gto0

CDEBV 250

100

Options:
1) 1.77

2) 2.24
3) 2.63

4)1.12
Correct Answer: 1.77
Candidate Answer: 1.12

QID : 311 - Which one of the following statement is TRUE?

T & @ i 91 HUT FE 27

Options:

1) Kirchhoff’s current law is applicable to only junctions in a network.
T3t T faegaury g v Aeas # dae S o o gl 81

2) Kirchhoff’s current law is applicable to only closed loops in a network.
T ot FegaunT s U Aeadh 7 Had 96 o T o8I &1

3) Kirchhoff’s current law is applicable to only electric circuits.

T &1 fegaurT as Fao faggd aRuy 9T areg @ g1

4) Kirchhoff’s current law is applicable to only electronic circuits.

T T faegaunT st ael goiareliols TR 9 o] 3relT g1
Correct Answer: Kirchhoff’s current law is applicable to only junctions in a network.

T o1 faegaunT s U Aead 7 Had sieere T o8I &

Candidate Answer: Kirchhoff’s current law is applicable to only closed loops in a network.

T T faegaury g v Aeash # dae 9 ofd W o gl 1

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 38/65
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QID : 312 - On which of the following concept, the superposition theorem is based?

gaaiferer vag Feafaf@a # @ frg sreuron w amafa 82
Options:

1) Duality

da

2) Linearity

Yf&ehar

3) Reciprocity

4) Non-linearity
ARG
Correct Answer: Linearity

Ryevar

Candidate Answer: Linearity

@har

QID : 313 - The internal resistance of an ideal current source is

T 3G faegd ORT W T AR gfawer gl
Options:

1) zero

P

2) one

Th

3) negative

FOTcHSR

4) infinite

3ed

Correct Answer: infinite
3Ad

Candidate Answer: infinite
3T

QID : 314 - A point where two or more branches connect is called as

e g STET &Y AT ar & Jiftre emend 5 § 39 FET ST
Options:

1) branch

Slireiig

2) node

A

3) terminal

[ArCr

4) circuit

afaer

Correct Answer: node

ot

Candidate Answer: node

o

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c#
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Determine the value of Norton's resistance (in, Q) for the given circuit.

few v giigy & fAv Afca & ofej™ &1 (3F #) 7 FEiia :1

L YW YW———a—W AA
20 20 4Q
+
——40V g 40 R,
/
< . YB
Options:
1) 12
2) 16
3)6
4)4

Correct Answer: 6
Candidate Answer: 4

QID : 316 -

What will be the value of current (in A) through the 50 02 resistor of the

given circuit diagram?

few e aRtwer smt@ # 50 A 9fadus § 9 gl TEegaemr &1 A

(TFIET #) F47 BEm?

®1o0v

1000% gsgﬂ

Options:
1)1

2)4
3)2

4)3
Correct Answer: 2
Candidate Answer:2

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c#
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Determine the voltage (in V) across 40 Ohms resistor for the given

circuit diagram.

few 7w ufguy 3@ # 40 3 9fokies & OR gl dieesT &0

(diee ) HI= T BIem?

W W
100 400
=200 1n0e=
60 V
N
- |+

Options:
1) 20

2) 30
3) 15

4) 10
Correct Answer: 30
Candidate Answer: 20

QID: 318 -

What will be the value of current (in A) through 4 Ohms resistance for the

given circuit diagram?

few are aivaer 3@ # 4 3 GioRere & 9R ETaT Taeg IR &1 & (TFIER #)

T gram?

W
an

+

20V éan

W
40

60

®r26a

Options:
1) 8.9

2)7.2
3)35

4)6.3
Correct Answer: 8.9
Candidate Answer: 3.5

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c#
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QID: 319 -
Determine Thevenin's equivalent resistance (in Ohms) and voltage
(in V) respectively across terminal 'a’ and ‘b’ for the given electrical circuit.

U 1w fagga oRyy # effiee 'a' 3R b’ & FRUR YA GHGET
ik (31H #) 3R dicesr (diee #) &1 &@n Faifa #51

YW YW 0 a
10Q 50 L4

@ 20v @ 2a 1003

Options:
1) 12, 40

2) 20, 80
3) 10, 30

4) 10, 50
Correct Answer: 10, 30
Candidate Answer: 10, 50

QID : 320 -

Determine the value of current (in A) through the load resistance of the
given circuit.

few v gl # o 9icki & FRUR faegaarT &1 #14 (TF9eR )
feraifite &3

!
40 20 60
R.E10Q
+ “ -
2V -[- 4V T EVT

Options:
1) 0.54

2)1
3)2

4) 0.38
Correct Answer: 0.38
Candidate Answer: 0.54

QID : 321 - The S.Iunit of Intensity of magnetization is

JIPIIHRIOT B ST FTTEIE SRS B

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 42/65
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Options:
1)
A’

2)
N-Wb™'

3)
Wb

4)
N-A-"

Correct Answer:
A’

Candidate Answer:
N-Wb™'

QID : 322 - Which one of the following material does not have a constant relative permeability?

goTa O foh Ty I 3mafaTes IRIEIAT A dieh 6T il &7?

Options:

1) Diamagnetic
e gedhrer

2) Paramagnetic

AT

)

3) Ferromagnetic

dgdadhra

)

4) Free space
@rell 31978

Correct Answer: Ferromagnetic

AR

]
Candidate Answer: Free space

@rell 918

QID : 323 - Which one of the following is the reciprocal of magnetic permeability?

SoTH W et Yraeh TRATEIT T Goshed 7

Options:

1) Reluctance
gfascH

2) Permeance
Jrarfrefierdar

3) Susceptibility
LECONICGIE

4) Reluctivity
EIGE4ERH

Correct Answer: Reluctivity

EIGR4EGH

Candidate Answer: Permeance

3rrfaeferar

QID : 324 - The.mathematical expression for magnetic permeability is

Yt IR & fore aforeher siffeafea gl

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 43/65
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Options:
1)

¥

F."H
2)
B
H

3)
m

A

4)
i
[

Correct Answer:
B
H
Candidate Answer:

e

F

m

QID : 325 - What will be the magnetic susceptibility of material if the magnetic field strength of the material is 1200 A/m and the intensity of magnetization is 0.084
A/m?

T Teh Yerd T Graehrg &1 hT et 1200 T/# § 3R Gerehrentor T Jarefelr 0.084 T/# § & 38 yerd &1 Yraehrd Fdearefiorar fhaeir gref?

Options:
1)

0.5 %107

2)
07=x10™"

3)
07 =107

4)

0.5x107°

Correct Answer:

07=10™"

Candidate Answer: [ NOT ANSWERED ]

QID : 326 -
Determine the pole strength of a magnet {in-\WWb) when the intensity of
magnetization is 10 Wb-m and the pole area of the magnet is 8 m? .

U qaF &1 gadd (dav #), fquiiia 1 @ dachietor hr g
10 Wb-m™ 3T Jas &r g@lad 8n’ §

Options:
1) 60
2) 80
3)20

4) 30
Correct Answer: 80
Candidate Answer: 20

QID : 327 - Determine the value of current (in A) in a coil, if it has 60 numbers of turns and produces a mmf of 30 Amp-turns.

I T dR # 60 A § 3R g5 30 TFIII-AIS I TH.UA.UH. ScqTied Hal ¢ al [aegeTtiRT 1 Al (TR #) f@uiRa i

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 44/65
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Options:
1) 0.8

2) 1.4
3)1.2

4) 0.5
Correct Answer: 0.5
Candidate Answer: 0.8

QID : 328 -
What will be the magnetic susceptibility of a material kept in free
space if the field strength of the material is 0.4 x107 A-m™" and the flux

density of the material is 12 T?

U Wil e 9 W §U GG I e Hagerliear = g,
X G @ &FadT 04x10° Am™' & 3R vag g 12 T &2

Options:
1)1

2) 0.65
3)1.38

4) 2.36
Correct Answer: 1.38
Candidate Answer: [ NOT ANSWERED ]

QID : 329 -
A coil having area of 300 cn® and 120 turns is removed from a 60 T magnetic field

acting normally in 2 seconds What is the magnitude of the induced EMF (in V) in the
coil?

UF FIel o @Ane 300cnt R I 120 T B, 60 TR & dad & S
FS0l I i 9 W & W W & A T 2455 A Fea o S §) &sand
i STATE F 9RAE (Fve 7) 4 &7

Options:
1) 108

2) 112
3) 104

4) 120
Correct Answer: 108
Candidate Answer: 120

QID : 330 -
What will be the value of critical eurrent (in A) through a wire that has a diameter of 4
mm at 10 K? If the critical temiperature of the material is 20 K and the magnetic field

strength is 22 10° A

10 ieas A9AE 9F 4 TAEIE & TORT aTel aR & AGH § Filde dedd THT #
AR (TR ) plA? Afg 9gE & Fifae oA 20 Sieas § 3t s &
W Tigar 2107 At B

Options:
1) 6.28

2) 18.84
3) 21.54

4) 22.68
Correct Answer: 18.84
Candidate Answer: 22.68

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c#
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QID : 331 - What will be the peak value (in A) of the current used by a washing machine rated at 230 V, 16 A?

230 aleT, 16 TFIAR Hedishiehd, aﬁwmﬁﬂaﬁmmﬁmmaﬁrﬁ@ﬁwwmm (TFIIR H) &1 gIRI?
Options:

1)0

2) 16

3) 20.38

4) 22.62
Correct Answer: 22.62
Candidate Answer: 16

QID : 332 - Which of the following wave will have the highest RMS value for equal peak values?

AR & & fFT a9 T IR TH.TH AT T T8h @191 ST 3T e T RIWT AT Teh TTATT 82
Options:

1) Sine wave

ST AT (HTS dd)

2) Sawtooth wave

HNTGed e (A ¢y a9)

3) Square

i (FFaRR)

4) Triangular

Reprofy

Correct Answer: Square

T (FFIRR)

Candidate Answer: Sawtooth wave
HNTGed e (A T 39)

QID : 333 - What will be the frequency (in Hz) of a sinusoidal wave when the time period.is 0.05 ms?

ST FHY T 7afer 0.05 TH.wH g1l o Tk STk aler i Ingied (T ) T gian?

Options:
1) 200

2) 2000
3) 20000

4) 200000
Correct Answer: 20000
Candidate Answer: 20000

QID: 334 -
What is the value of capacitive susceptance (i'Siemens) of the circult given below?

ey B o ofvqer & wdfafea sdees a7 (@69 §) w87

Vv R o L
~ ) 5in A
:)SDHz EQOQ — 0.1 mF %10 mH

.ﬁ+

Options:
1) 0.0314

2) 0314
3) 31.83

4) 318.3
Correct Answer: 0.0314
Candidate Answer: 318.3

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 46/65
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QID : 335 - What is the value of the phase angle (in degrees) of a series RL circuit having an impedance of 150 Ohms and inductance reactance of 90 Ohms when
supplied with a frequency of 50 Hz?

T 150 3N T gfdarer 3k 90 3N\ T Wevca FfAfshaT arel el 3R v aRYY 7 Sof 10T (3t ) 7 g1em 3R 36 50 g&af T Irdfed &1 SMT?
Options:

1)0

2) 36.87

3) 53.13

4) 80
Correct Answer: 36.87
Candidate Answer: 36.87

QID : 336 - In parallel LC circuit, what will be the value of current (in A) at resonance?

Th GATACR Tor.HY 9RuY #, 31e1e R AT TRT T #lel (WU #) F27 gram?
Options:

1)0

2) 10

3) 100

4) o0
Correct Answer: 0
Candidate Answer: 0

QID : 337 - Calculate the time (in seconds) taken by the capacitor of a series RC circuit having a capacitance of 0.01 mF and resistance of 300 Ohms, to get fully
charged.

T e TR aRTYy & gurRE foraer Ferfar 0.01 fe-ths 3k gfawier 300 319 8, 38 il ¥ =1t et 3 RhaeTr word ([hsd #) oeem?

Options:
1) 0.007
2) 0.015
3)0.15
4)0.3

Correct Answer: 0.015
Candidate Answer: 0.007

QID : 338 - Which of the following is NOT correct about a delta connected balanced 3-phase circuit?

So# & HheT A Fo ST I FfAd 3- ot TR & IR F T ¥
Options:

1) The phase current is less than the line current.
ot FaCAURT ATgeT FegaeRT & &4 &

2) The phase voltage is equal to the line voltage.
ot il dTgeT dlecsl & aNIeR ¢

3) The system does not contain a neutral point.
soTelt # Tk 3erdie fig 76 B

4) 1t is a four wire system.

Ig TR-dR JOTel g1

Correct Answer: It is a four wire system.

g IR-aAR JoTel ¢

Candidate Answer: It'is a four wire system.

g IR-aAR JoTiel ¢

QID : 339 -‘What is the CORRECT expression for apparent power of a balanced 3-phase delta connected system?

ST W T W1 ot ST Fared Tford 3- Tor aRer Y e arfer & fore e 82

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 47/65
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Options:
1)

NB3xV xl sing

2)
SERUE

3)
N3 xV ki cosg

4)

JBxV i

Correct Answer:
3x Vixi
Candidate Answer:
N33V ) sing

QID : 340 - What is the reactive power of a 3-phase delta connected system having a line voltage of 200 V and line current of 80+A and the phase difference
between the voltage and current is 36.87 degrees?

Teh ST ol Aferdl 3- Wl GUTTel T Sfcifshareier erfere @ gralt forgent ol ateest 200 diee 3 oTgeT faegeerRT 80 WU & 31K dledst 3R fegdury & &=

T 3R 36.87 33t §2
Options:

1) 13.856 KW

13.856 fohell.are

2) 16.62 KVAR

16.62 %.41.U.31R

3) 22.17 KW

22.17 fFar.are

4) 27.71 KVAR

27.71 FATIIR

Correct Answer: 16.62 KVAR
16.62 F.41.0.31R

Candidate Answer: 16.62 KVAR
16.62 &.d1.0.31R

QID: 341 -

Calculate the value of quality factor in the Hay's Bridge given
below when supplied by a frequency of 50 Hz?

50 &&= $1 amafca & It e o gr A R o gu g
& IOTCAT HReb & A BT I0ET B

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c#
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Options:
1) 31.83

2) 15.91
3) 10.61

4) 6.36
Correct Answer: 31.83
Candidate Answer: 31.83

QID : 342 - Which of the following is used to avoid the errors due to creeping in the electrodynamometer type energy meter?

T TAFISTSAAAL. TR & Fofl A, 3 IR @Ry Seveet I & g & e e # & R v ST R o 82
Options:

1) Disc with large radius is used.

3 =T arelt 3% T TeT T ST B

2) Disc with small radius is used.

oI Bar arelt 3T &1 g9t fohar Sirar €1

3) Holes are drilled in the disc.

5= # g f3a fre ama €1

4) Very heavy disc is used.

gt oY % o1 ST foha STretr B

Correct Answer: Holes are drilled in the disc.
5= # g f3a fFe I €1

Candidate Answer: Holes are drilled in the disc.

5% 7 O f3er fvw amar €1

QID : 343 - In two wattmeter method of power calculation of a 3-phase balanced star connected system, what is the power factor of the system, if both the
wattmeters show same the positive reading?

3- thof Hferd TR T # SfST §$ TRl ohr <1feret 10T & & afealex fAfr &, qomelr &7 T SReh ST 19 AT 2t aTe#iex eticaeh (difsifed) iR Fare qfgar
e §?

Options:

1)0

2) Greater than 0 but less than 0.5
0 T 3T aifchet 0.5 T T

3) Greater than 0.5 but less than 1
0.5 & 93T oifehet 1 & A

4)1

Correct Answer: 1

Candidate Answer: 1

QID : 344 - What is the phase angle (in degrees) of a.balanced 3-phase star connected system, if the first and the second wattmeter show readings of 0 W and
1600W respectively?

T Hferd 3- ot TR A SfST §$ JoTTell i ITahoT (Bl ) o &, afe wgel 3R afacia areal. sharer: 0 are 3R 1600 are i AT e &2

Options:
1) 30

2) 45
3) 60

4) 90
Correct Answer: 60
Candidate Answer: 90

QID : 345 - Which of the following is used to measure value of quality factor below 10?

o951 7 & FohgehT 3U2N9T 10 F &1 & I[UTdccT R o AT I AT & foIT T SiTe 82

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 49/65



17/02/2018 Staff Selection Commision

Options:

1) Anderson’s Bridge

TSt foiet

2) Maxwell’s Inductance Bridge

HFHdd Revcd ot

3) Hay’s Bridge

& faret

4) Wheatstone Bridge

FreEeta foiet

Correct Answer: Anderson’s Bridge
TS foet

Candidate Answer: Anderson’s Bridge
s fosr

QID : 346 - Which of the following is the most commonly used measurement unit for a typical 1-phase energy meter?

T 7 A i O g 311F sTIATH T ST arelr [ARASE 1- Hat FATT. HI AT 518 872

Options:
1) Erg

2)J
3) kWh

49HwW
Correct Answer: kWh
Candidate Answer: W

QID : 347 -

What is the value of unknown capacitance C, (inpF) and unknown
resistance R, (ink()) respectively, in the circuit given below when no
current flows through the detectnr(D}?

few aw o9y § o9 Bteey (D) & AgH § H1S gRT 781 99 gdh g
ot 3 AR G, (inpF) 3R 3 9iode R, (inkQ) T #1=T FE Bl

RN
80 Q
c'l.
25 F 20 pF
160 O
)
Ly
e
Options:
1) 25, 64
2) 25, 100
3) 50, 64
4) 50, 100

Correct Answer: 50, 64
Candidate Answer: 50, 64
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QID : 348 - What is the percentage voltage error of a potential transformer with system voltage of 6,600 V and having turns ratio of 50, if the measured secondary
side voltage is 130 V?

6,600 m*mmWSOWWmmmﬁmmaﬁWgﬁw@vﬁ,uﬁwgmaﬁﬁwa’lmmoa’l?c%?

Options:
1) 1.51
2)3.02
3)4.53
4) 6.04

Correct Answer: 1.51
Candidate Answer: 4.53

QID : 349 - Which of the following is the cause of meter phase error in induction type energy meter?

TAFT 3 @ 77 9ROT YR Sot e & #Aex ot A T HROT §?
Options:

1) Incorrect position of brake magnets.

37 < ¥ T et

2) Incorrect adjustment of the position of shading bands.
Afser o Fr Fufa 1 srad FAISET |

3) Slow but continuous rotation of aluminum disc.

Tt f3Ee & et a1fey arer aifret TRaT ot

4) Temperature variations.

GIEE GRS

Correct Answer: Incorrect adjustment of the position of shading bands.

AfSar d5 A A &7 31077 FFRSA|

Candidate Answer: Slow but continuous rotation of aluminum disc.

oo 3% T efielt a1fey arer At PR goler|

QID : 350 - The operation of a Megger is based on which of the following?

IR T ATl fAeaAfafad 7 & forg w 3menRa &2

Options:
1) Dynamometer

SBAAIHET

2) Electrostatic meter

Soagreefeas Hier

3) Moving coil meter

4) Moving iron meter

FFAET 3R HIeX

Correct Answer: Moving coil meter
AT Fise e

Candidate Answer: Dynamometer

SBAAIHET

QID : 351 - The speed of the motor exceeds the synchronous speed. This braking method is called

FHiex 1 1 Fezmitars AT A 30 @ e ¥ 7g $fhT Fafy e €
Options:

1) Plugging type braking

cafdiaT yehR kT

2) Regenerative Braking.

qeecaTGe Sifehdt

3) Dynamic braking

aifaeie afher

4) none of these

T W FIS TG

Correct Answer: Regenerative Braking.
YerecaTee Sifehdr

Candidate Answer: Plugging type braking
cAfdiaT yehR sifehar

QID : 352 - An Isolation Transformer Has Primary to Secondary turns ratio of

JUFFHN STAEER &1 STafHd AR i goff sreqara &
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Options:

1)1:2

2)2:1

3)1:1

4) Can be any ratio

1S Y 31T 81 Hehell &
Correct Answer: 1: 1
Candidate Answer: 1:1

QID : 353 - Input of a transformer is square wave, then the output will be

SIAWHIAR &1 $AYC AT o’ §, A 3TYE gram ?
Options:

1) pulsed wave.

Ffed a¥ar

2) square wave

T T

3) triangular wave

BRrofRr a¥er

4) sine wave

1T LT

Correct Answer: pulsed wave.
Ffed a¥ar

Candidate Answer: square wave
e aer

QID : 354 - The current drawn by the a 230 V DC motor of armature resistance 0.5 Q and back emf 200 V is

T 230 V T 3. Al garT Wi 1 enr foae 3w 9faji 0.5 Q § 3R 91ed §.uA. U, 200V E
Options:

1) 60

2) 40

3) 600

4) 660
Correct Answer: 60
Candidate Answer: 660

QID : 355 - Find the short circuit current with Vr=7.5 and Ra=0.5Q.

Vr=7.5 3iR Ra=0.5Q aTell T Tfhe 4RI AT F|
Options:

1) 5A

2) 10A

3) 15A

4) 20A
Correct Answer: 5A
Candidate Answer: 5A

QID : 356 - The'type.of DC generator used for arc welding purpose is a

3T TSI 323 & ToIT TAT fhaT STt arelT &Y. Y. Seliel & TR &
Options:

1) series generator

Aofiag TR

2) shunt generator

T ST

3) cumulatively compounded generator

A §9 & AT FeAeX

4) differentially compounded generator

FHRAART AT FeIeX

Correct Answer: differentially compounded generator

3ThIAT AT SR
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Candidate Answer: cumulatively compounded generator

Tt ®9 ¥ AT Sl
QID : 357 - Total Core loss is also referred as

Fol X BTl T 50 & F o Fefda fopar Srem &
Options:

1) eddy current loss

TE R B

2) Hysteresis Loss

M s

3) Magnetic Loss

e g

4) Copper Loss

HIIT A

Correct Answer: Magnetic Loss
e g

Candidate Answer: eddy current loss
TE U BT

QID : 358 - The magnitude of the induced emf in the primary winding, will be

grafAs arsfEer & 9RT $.ua.uw. Fr aRamT BT eifehet 3T alecot & AUl grem

Options:

1) higher

3TIN

2) almost equal

SIRTHIT AT

3) lower

A

4) negligible

Ty

Correct Answer: almost equal
SIRTHIT AT

Candidate Answer: lower
HH

QID : 359 - Blocked rotor test is used to find which of the following losses ?

oot 7 & fore T T 9T 9T o folv 31aRIfST e 9LvaTor shr 39T fohar ST &
Options:

1) Constant losses

IR g

2) Variable losses

gRadf g

3) Constant losses and Variable losses Both

3R B 3R aRadt g gt

4) Rotational loss

qolt gr

Correct Answer: Variable losses

gRadl g

Candidate Answer: Constant losses and Variable losses Both

3R & I aRedt g et

QID : 360-.In three induction motor the initial inrush of current is produce

T OROT AR 7, URT F IRIAS 3T F 3o BT &
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Options:
1) large line voltage drop
2 ST drecot 31T
2) large phase voltage drop
37 %o dleeot 319
3) damage the rotor windings
e AR Y ity g
4) high starting torque
I PRI TelTeT
Correct Answer: large line voltage drop
3 oS dleest 3T
Candidate Answer: damage the rotor windings

Ve ST A ARy e

QID : 361 - The starting winding of a single-phase motor is placed in

- ot AR 7 QI AT Feeret @ &
Options:

1) Rotor

X

2) Stator

T

3) Armature

I

4) Field

&

Correct Answer: Stator

wTX

Candidate Answer: Armature

IR

QID : 362 - The type of single-phase induction motor having the highest power factor-at full load is

Tehe-TOT ST AT & TR [oT# Ut 9N W 3Tedd Afad FRa &
Options:

1) shaded pole type

BT GIe JehR

2) split-phase type

3) capacitor-start type

FUTRF-IRH TR

4) capacitor-run type

FyTRF-aferd g

Correct Answer: capacitor-run type
FuRF-afad weR

Candidate Answer: capacitor-start type
FUTRF-IRE J&R

QID : 363 - The shaded pole motor is used for

SIYIfHd 9el Al BT FT 39T fhg fow Far srarg ?
Options:

1) high starting torque

iferes Qeaelt st

2) low starting-torque

A LTI Ferget

3) medium starting torque

HEYH O FolTeor

4) very high starting torque

FHeATeh LRI TelTEOT

Correct Answer: low starting torque

T LB Ferget

Candidate Answer: very high starting torque
et e3e Tomeur
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QID : 364 - Which of the following motors can be used for unity power factor ?

AfFaf@d # @ i & Az s AfFd ot & fAav saver v 51 gench 82

Options:

1) Capacitor run motor
FuIT afad A

2) Shaded pole motor
AT g AR

3) Hysteresis motor
AfFreT Arex

4) Schrage motor

AT Al

Correct Answer: Schrage motor

AT AT

Candidate Answer: Capacitor run motor

z.u Iq E‘ (EE J EI
QID : 365 - The dummy coil in DC machines is used to .

.30, FelieT # gfasy (s#) Heelr 1 v g faw grar 82

Options:

1) eliminate reactance voltage

gfaerd (RuadH) dieedr & AT Hial o oI

2) eliminate armature reaction

3R ATRFRAT F FATCT F & v

3) bring about mechanical balance of armature
HHR & T FoleT ot & faw

4) eliminate harmonics developed in the machine
7 7 faefaa gmffaea & garca &= & fav
Correct Answer: bring about mechanical balance of armature
MR 3 T3 Heerat et & T

Candidate Answer: eliminate reactance voltage

gfaera (Ruas) dteedr 3 AT et & faT

QID : 366 - When a D.C. series motor is connected to A.C. supply, the power factor will be low because of

S Teh 31T, Aofiag AleX TN 3 & S gl &, A e I[ureh e gl Fiieh
Options:

1) high inductance of field and armature circuits

Hres 3R 3w afée 1 3Ta Rehea

2) induced current in rotor due to variations of flux

FoIrg # Jfaerar & HRor Aex F 9RT arT

3) fine copper wire winding

IR FHIIX FI AR ST aEfar

4) none of these

ST W IS AT

Correct Answer: high inductance of field'and armature circuits

Hres 31X 3R afde #1 3Ta Waca

Candidate Answer: fine copper wire winding

TR PR HT AR Fr asfEaT

QID : 367 - The speed-of a DC shunt motor is required to be more than F.L. speed. This is possible by

.7, greduY (2i€) A H AT TH.T. TS F 3110w gt ¥ 3T gt &1 Tg I GIa &7

Options:

1) increasing the armature current
HTHTR GRT FT TG

2) decreasing the armature current
3R URT & FETRT

3) increasing the excitation current
UFHTSCAT URT T ST

4) reducing the field current

&Y EIRT T HF FH

Correct Answer: reducing the field current

8T YRT T H I

http://thepracticetest.in/cs_sscje_18/response_questions.php?t_id=MjkwMTIwMTg=&appid=1368062d74107fc05177712c90c3885c# 55/65



17/02/2018 Staff Selection Commision

Candidate Answer: increasing the armature current

3R 4RT &Y FGT

QID : 368 - Due to low supply voltage for a 40 HP, 3 —phase induction motor, which of the following equipment can be used to boost the voltage?

40 T, 91, &Y, 3 -thel UUT A F HA INYfT Aedet & HROT, AT & § et 6T 3YH0T Al d61 & Tl 3TANT f3Har 51 dhar 82

Options:

1) Synchronous condenser

Jeashiios gufe

2) Additional tap changing transformer
AR &g ST gramiaR

3) Series capacitors

Aofiag gl

4) Shunt capacitors

eiT FuTiRT

Correct Answer: Shunt capacitors
2T FUTRT

Candidate Answer: Additional tap changing transformer
faRerd &g dfSer giawiear

QID : 369 - In case of transmission line conductors, with the increase in atmospheric temperature

HEROT SlTSel Tlefeh & HAHC &, AYHSA YA H Jig & /Y
Options:

1) length increases but stress. Decreases

2) length increases and stress also increases

T 3 gfg 1 € 3R wfwe F o gRy @l &

3) length decreases but stress increases

SRS 3% Y @Ik ¥ T el o R v ¥

4) Both length as well as stress decreases

Correct Answer: length increases but stress. Decreases
Candidate Answer: length increases but stress. Decreases

QID : 370 - Insulators are generally made of

fegaith o & e g g1
Options:

1) glass

Hg

2) porcelain

el e

3) RCC

IR

4) cadmium

FsfAas

Correct Answer: porcelain
CICIREEll
Candidate Answer: porcelain

el fAgY

QID : 371 - HT cables are generally used upto

TIE el T 3TN U JgT b 1T AT &

Options:
1) 11 kV

2) 33 kV
3) 66 kV

4) 132 kV
Correct Answer: 11 kV
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Candidate Answer: 33 kV

QID : 372 - In an underground cable, insulating material used is.

T AT e A Taegeryel |l 1 Uit R S g |
Options:

1) oil impregnated paper
O STCT FHRETA

2) PVC

oy dr |

3) rubber

LEry

4) None of these

ST q IS AET

Correct Answer: rubber
RERS

Candidate Answer: PVC
oy o

QID : 373 - In wiring and winding an Abbreviation for S.W.G is

Frafer 3T A 7 S.W.G fraes dfaicd & &
Options:

1) Synthetic Winding Guard

2) Simple Winding Gauge

ATEROT AETEaT AT

3) Standard wire gauge

e arR AT

4) Single Wire Guard

Tehel GIIR IMS

Correct Answer: Standard wire gauge
g arR AT

Candidate Answer: Standard wire gauge

T2 R A
QID : 374 - As the load is increases, the speed of a DC shunt motor will .

SIS oll5 §¢ SITaT §, o 2.). greduy (i) Atex @ aifa T gl
Options:

1) remain constant

feax

2) increase proportionately
AT

3) increase slightly

e e

4) reduce slightly

FO HH

Correct Answer: reduce slightly
3@ hH

Candidate Answer: reduce slightly
FO HA

QID : 375 - In case of core type transformer which type of winding is done near the core ?

P IFR F TG H FR & e 5g yoR fr aEEaadry ?
Options:

1) low voltage

FH dlecsT

2) high voltage

3T drecsl

3) Primary winding

graffe arfEer

4) secondary winding

e arefar
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Correct Answer: low voltage

FH aleesl

Candidate Answer: Primary winding

grafAe asfEer

QID : 376 - Calculate the January month electricity bill for a room containing 40W lamp working 10 hours daily and unit cost is 1 rupee

TS T TS 8 40 dic FT god Yl 10 8 STordr § 3R fSH$r 3oh1s FiAd 1 TIT § 3804 SToTadl Ag & TosTel & et T 37Thelet HY
Options:

1) 13.4 rupees

13.4 393

2) 12.4 rupees

12.4 393

3) 11.4rupees

11.4 39

4) 10.4 rupees

10.4 T9

Correct Answer: 12.4 rupees

12.4 39

Candidate Answer: 11.4rupees

11.4 59

QID : 377 - Earth wire is connected to the

37 AR R 3T giar §
Options:

1) appliance

30T

2) ground

qfm

3) power house

fostell &)

4) transformer

TABIAR

Correct Answer: ground

afa

Candidate Answer: ground

afa

LN

QID : 378 - A feeder, in a transmission system, feeds power to

TS B, TwROT T &, 58 afed ver ar g
Options:

1) Distributors

[EGied

2) service mains

afqw 79

3) substation

HIEAA

4) All options are correct

it faspeT wér &

Correct Answer: Distributors

[EGRCH

Candidate Answer: All options are correct

e Reegad &

QID : 379 - At a dead end of a transmission line or at a corner or sharp curve, which type of insulator is used

TEROT A9l & TAT T AT el T AT il deh W, Tl Gohr & TG erred shr 3udiier ghelm §
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Options:
1) Pin
=T
2) shackle
NET
3) suspension
IGEEC)
4) strain
RGICE
Correct Answer: strain
REGIE)

Candidate Answer: strain
RGIc)

QID : 380 - Shaded pole induction motor used in

BIATThd Grel YROT Al T 3T fhast o Sar &
Options:

1) fan

9@

2) compressor

s

3) blower

SABR

4) electric clocks

[EECICIReE

Correct Answer: electric clocks

IEECICIRIE]

Candidate Answer: fan

9

QID : 381 - No ceiling fan should be installed at height of less than

FIE ol T T 9T 30 1S T FH R TR 781 FAT TR
Options:

1) 2.5M from the floor

dIF25H W

2) 5.5 M from the floor

aa 55

3) 4.5M from the floor

JaT 457 ®

4) 3.5M from the floor

aa 3.5 .

Correct Answer: 2.5M from the floor
aad25#d

Candidate Answer: 5.5 M from the floor
ddT# 5.5 HL W

QID : 382 - What is the function of turbine in hydro power plant?

ST ATFT T H TS T AT 1 &2
Options:

1) Produce electrical power

fegd ufed scarest

2) produce hydropower
ECRICGIEREICC

3) produce heat power

GIERIEC T

4) produce mechanical power

3w AfFd 3carest

Correct Answer: produce mechanical power
Fifyw afed scaesT

Candidate Answer: produce mechanical power
i3 AfFd 3caesT
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QID : 383 - Radiant efficiency of a luminous source depends on .

Rftqa= dia H afFRagaar . w AR g !
Options:

1) Shape of the source

I T 3THR

2) Temperature of the source

I T ATIHATT

3) Wave length of light rays

TehTer 0Tt T RGeS

4) All options are correct

a3t faheT Ter g

Correct Answer: Temperature of the source
JIT T ATIHT

Candidate Answer: All options are correct

Tl oo T &

QID : 384 - To save wastage which lamp is the cheapest?

YT T & TIT TG TEAT oFT HleT AT E ?

Options:

1) Sodium vapour lamp
AfETH arsg e

2) Mercury vapour lamp
AR AT ST

3) Fluorescent tube
R e

4) GLS lamps

ST, Tel.uq e T

Correct Answer: Mercury vapour lamp

HSY AT ofF T

Candidate Answer: GLS lamps
ST, Tel.TH oiF T

QID : 385 - The disadvantage of fluorescent lamps as compared to GLS lamps.is .

S, Ter.ud e T Jofell F T e & Jeher § ?

Options:

1) Noise in choke

Nh F AR

2) Stroboscopic effect
TSRS THTT

3) High cost

3T dRTd

4) All options are correct

T ey w8 §

Correct Answer: All options are correct

oY fahoT |ET &

Candidate Answer: All options are correct

T faereT TET &

QID : 386 - Gray ironsis‘usually welded by

I IR 1T T D GaRT des &l oIl &
Options:

1) Arc welding

3R afeger

2) Gas welding

7 afesar

3) TIG welding

.38 0. afegar

4) MIC welding

TH.3mS. A, afesaT

Correct Answer: Gas welding

g afeser
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Candidate Answer: Gas welding

3rg afcgar

QID : 387 - The quantity of heat absorbed from the heater by convection depends upon

HIg & GART E1eX TN T FAT Y AT vl W R v g
Options:

1) The temperature of heating element

Tt ded T draHT=T

2) The surface area of the heater

1T &1 I3 aTTthel

3) The position of the heater

grex & Rufa

4) All options are correct

T faweT wdT §

Correct Answer: All options are correct

ot fasroT @ &

Candidate Answer: All options are correct

Tl faereT T &

QID : 388 - Which of the following falls under the category of fusion or non-pressure welding?

AfEafRa & ¥ sl Joua a1 IR-garg afeger Hr soh F amar g 2
Options:

1) Resistance welding

gferrer afesgar

2) Metal-arc welding

&1q-31T% afesar

3) Ultrasonic welding

3ecHifaleh afesaT

4) Explosive welding

faewres afes

Correct Answer: Metal-arc welding
&1q-37T% dfesar

Candidate Answer: Ultrasonic welding

el afes
QID : 389 - When an electron is removed from an atom, it becomes

AT § Solaglel ferel S I, g qT A1l &
Options:
1) covalent
LRI RIEED
2) positron
et
3) molecule
i
4) ionised

K Cicrl

c
Correct Answer: ionised

A

c
Candidate Answer: positron
giferetet

QID : 390-.The donor type of impurity is

3TR[ECT T &l TR &
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Options:

1) phosphorous
HEHRE

2) aluminium

TegfARTe

~

3) boron
IRTeT

4) iron
3TITT

Correct Answer: phosphorous
HIERRE
Candidate Answer: phosphorous

RIERRE

QID: 391 -

In figure the forward characteristics of a
silicon diode is represented by

= # foforepi= 3ra1s & 3mr o7 fohwes gamr
fAsfta fee s &

/ ! ! !
{a) (b) {c) j {d) |/
D !
2 V 0—5 v

0

Options:
1) (a)

2) (b)
3)(c)
4) (d)

Correct Answer: (c)
Candidate Answer: (a)

QID : 392 - The number of diodes required in a bridge rectifier circuit is

o7 RsearY aikaer & 3raede s i gEaT .y

Options:
1)1

2)2
3)3

4)4
Correct Answer: 4
Candidate Answer: 4
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QID: 393 -

In the figure below you see an electronic
component. Which type of electronics
component is shown in the figure?

a1 T v AT # UST UF SelFela
dcd G@rs & 81 =% frw weR #r &

AC128

Options:
1) Thyristor

2) High power transistor
39 Afed gifeeex
3) Low power transistor
FH AfFd giforeex
4) Photo transistor

wIeT giforeey

Correct Answer: Low power transistor

F AfFT Tifoeex

Candidate Answer: Thyristor

AERNTX

QID : 394 - The current gain of common base amplifier is

AT 9 gatE H anr Ifig §
Options:

1) more than 1

19 3R

2) less than 1

18 FA

3)equalto 1

1% SR

4) greater than 100

100 & &=

Correct Answer: less than 1
18 FA

Candidate Answer: equal to 1
1% s’

QID : 395 --synchronous motor can be made self starting by providing

ATt JeTel % Jegehiias Al HIcH afad delTs ST Hehell ©
Options:

1) damper winding on rotor poles

e Al IX 31aFHeHh arsfaar

2) damper winding on stator

T R 3THEH ST

3) damper winding on stator as well as rotor poles

T 3R A Ol W 3HGHGH arsfaar

4) None of these

FH A IS AR
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Correct Answer: damper winding on rotor poles

e el X 3TaHEH arsisar

Candidate Answer: damper winding on stator as well as rotor poles

Feex 3R WX 9T IR 31geah arsfzar

QID : 396 - A synchronous motor working at leading power factor can be used as

3raroft Afd FRe TR F FX TEY JodahTTor HICT T ST 57 §9 # o o Fevell &
Options:

1) current booster

4R gig & forw

2) voltage booster

areest g & fow

3) mechanical synchronizer

ity Jegehlelsh

4) Power factor corrector

ATFT R GURH

Correct Answer: Power factor corrector
AT HRH URH
Candidate Answer: voltage booster

dleor g & e

QID : 397 - In a synchronous motor hunting occurs due to

TerrITors e # ERaT sy o A gl € 2
Options:

1) Over-excitation

3ifa 3edateT

2) Over-loading for long periods

oS FHT T Aa] fsaT

3) Periodic variation of load

X 1 3mafte fafaerar

4) Small and constant load

BT 3R 3R 6

Correct Answer: Periodic variation of load

HR Fr 3mafers fafaerar

Candidate Answer: Over-loading for long periods
S FHT T &R AT

QID : 398 - A synchronous motor is running with normal excitation. When the load is increased the armature current drawn by it increases because

T Jodehlioieh Al HTHY Scctolel ¥ Tl T &1 ST AN & g &1 el § o 38 qary i o718 3ot o 7 9fe forg ror @ g
Options:

1) Resultant voltage in armature is increased

IR & aRonfAes diees 7 i

2) power factor is decreased

QAT I[oTeh e T arm §

3) back e.m.f. becomes less than supply voltage

TR §.TH. U, 3T dlocor, 8 & &1 ofell &

4) speed of the motor is reduced

AR A FAT AL

Correct Answer: Resultant voltage in armature is increased
IR & aRonfAe alees # gig

Candidate Answer: back e.m.f. becomes less than supply voltage

TR §.UA, U, 3Tl aledst § A & Sl &

QID : 399 - Due to which one of the following reasons a synchronous motor fails to pull into synchronism after applying D.C. field current ?

3.3, &1 4R YT A & 91 e & & FhH HR0T § U Jedshiiole Ay dedehiloihal 7 S 7 31 el 82
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Options:
1) High field current
39 819 9RT
2) Low short circuit ratio
FH ¢ ke I
3) High core losses
3T HR
4) Low field current
S 8T URT
Correct Answer: Low field current
F &1 URT
Candidate Answer: Low short circuit ratio
A AIE Fishe Jqard

QID : 400 - As the load is applied to a synchronous motor, the motor takes more armature current because

JeaHlTerh AT W AR HRTT BT S 0, Al 31T R arT 1 3uier el § F3ifn
Options:

1) the increased load has to take more current

qf& RRT gu IR 1 31T T et el

2) the back e.m.f. decreases causing an increase in motor current

9TRE $.TH. UP. FH BT & foraeh HoT Ay a7 i S &

3) the rotor by shifting its phase backward causes motor to take more current

e @R 39e ot Y dies WY & HRUT AR 1 3k URT el TS §

4) the rotor strengthens the rotating field causing more motor current

Ve & Ul Bles Tl gael FT § foreeh HROT 3R Al 4RI eqet giell &

Correct Answer: the rotor by shifting its phase backward causes motor to take more current

U E@RT 3T of 1 Ui et & HROT Al 1 78S URT =it 95 &

Candidate Answer: the back e.m.f. decreases causing an increase in motor current

UTRd §.UA. UG, FH giall ¢ foldeh SIROT AT ORT & i gl &
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